Missed the Wave, Week 1 CH 320M Iverson Fall 2025
Determining Existence of Molecular Dipole

For each of the following, give the hybridization of each carbon, and determine if there is a net dipole.
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H\céc\F There is a dipole. Two fluorines on the same face, so the molecule is not symmetric.
I
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F\céc\F There is no dipole. The fluorines oppose one another symmetrically, and so the
| whole molecule has no net dipole.
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_c” ' There is a dipole. The molecule is not symmetric with regard to the two substituents.
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c There is a dipole. Since the carbon has tetrahedral geometry,
| the whole molecule is not totally symmetric, and so there is a net dipole.
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HC” XcH There is a dipole. The fluorine substituents here do not cancel.
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He” XcH Here, there is no dipole. The three fluorines are placed symmetrically apart, and so
I [ everything cancels.
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Missed the Wave, Week 1

Drawing Structures from Chemical Formulas

CH 320M Iverson Fall 2025

Please draw the chemical structures that correspond to the following formulas.
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